


(3333333333)% = 11111111108838838889
10

($33 47.338)* = }11 47 111 0§88 .7 8889
] |—1 |—1

G



(2525252525)2

= 7070707067070707071

(3113113113113 11)2

=14014014014013140140140140141
15



(0. §33.7.33§)% = 0. }LL7.11} 0§38 {7,884
I -1 -1

| — o0

1 :
5—0.333---—0.3

12 1 ’
) =-=0.111..-=0.1
() =3

3

I3
3 7

1 1
n n



G 5
)
2- jun(10).
3

487

S|

(G =< 20, n =< 500,

G,n



Table 1

718/ 9 101114 15/17/ 18 | 20
n 11143(11| 3 |71,29 4|3 | 5 |281
5

55 22 |487|142|353 41 7
110(10| | 55 355 6|35
220/20| |110 497 12| 37
220 185

259

331

(G =< 20, n =< 500)
G =2,4,5,6,12,13,16,19 n =< 500



?- j4(1/3,10,N).

N=1



2

?- same_ list(A=[3]"5),qdig(B=A"2,10).

A =13, 3, 3, 3, 3]

oo
I

=[1,1, 1,1, 0, 8, 8, 8, 8, 9]



? — same_list(A = [T‘.’{*%.ﬁ] A m),gdig(B = A A2, G).
3

A=[pbcabg---.abgl
3xMm

B=1[¢efdef- ---,deqhL]nhi}--- hIK]
A

g=Ff-Lk=j+1)




L
7 1 =0.1254

? —same_list(A =11,2,5,4 A 3),qdig(B = AA2,7).

A = [}, 2,9,4,1, 2{7'5, 4,1,2,5, ?]

—q65OL%§Ol64?i0165@16509

4x3—1

1 —
B 7 & = 0.016501650 - - -



? — same_list(A =[a,b,c] Am),gdig(B = AA2G).

=[a,b,c,a,b,c,---,a,b,(]
=[(73I,e,f,d,e,$1j,~ ,d, e, é ?],I,j h,|,}I , h, i,IE]
X
+ Y
{2 £%

=G -1



YA
L= (0.33347.33§)2 = 0. 11T " 1110 888 558
1x10
(G = 10)
111 -- - 110
+ 888 - - 889
122 {z 99
1%10

\
5 = (0.125412541254)? = 0.0 %_650121_0164g TER01550)
43

G=7)
165016501646
+ 501650165020

§6666§566669
43




10

n=3 n = 487

—}—-:ilOO2053388090349075975359342915811088295687885010

487

26694045174537987679671457905544147843942505133470
68993839835728952772073921971252566735112936344 - - -
52977412731006160164271047227926078028747433264887
03080082135523613963039014373716632443531827515400

618069815195071868583162217659137577

(1=486)



(002053---002053---002053)2::

421640264958/74250007/378704636777993751291273311436
1489064 7597282950132605863329524516273206026082666
79034781105456446668831086693454878167045440171 - - -
57835973504125749992621295363222006248708726688563
851093524027170498673941366/0475483726793973917333
20965218894543553331168913306545121832954559828 - - -

(I = 2911)

$99999 .£7 999999
1458




A=1 A?=(1y B:G%*,*A (P A
7 £ =0.1254

A=t =0.1254

A? = 4 = 0.01650

B = + A =0.00¢ @1254

4>1<|
C=A-B (C = 0.1254 4 1254)
4x|

74>|<|



C2=(A—B)2=A2_2AB+B2=(A2_AB)— (AB — B?)

AB = 7« A% = 0.090{7 4 z 0§ 1650
S

B? = g+ A% = o.oq)o_-{z_og) 1650

A% — AB = 0.01650 — O O@ {Z_O@ 1650 = 0.0 }650{2 ?
4| 4x|—1
AB—B2 = 0.0§0. {Z_ogz 1650—0.0 40 {Z_ogz 1650 = 0.090. {Z_og) 1650+ - 16§
4x|—1




C? = 0.04650¢; ; ~0.090. (2.0 0§ }650{2 16;3
Ax|— Ax|—

= 0.0 }6501650 %17 1650164% ?0165016%! 501650§
4x| 4x|—1

16501650 - - - 16501646
+ 50165016 - - - 50165020

@6666(:666 s _64?*6I6666§

(Z=6=G—1)



